| Efficiency vs Dxy |
>0.05
Pas

D.045
>
$0.04
c
D035
g
©0.03
0.025
0.02
0.015
0.01
0.005

....................................................................

....................................................................

[a) 111 [ A

<0

Ratio

10 15 20
TP dxy (cm)

FIT_T000evt
REFit_1000evt

REFT 1000evt

S OLHIT 1000evt
STOLHIT’lOOOevt 50000t

| Efficiency vs Dz |

~ 0.02
©
9.018
>
9.016
Q

2.014f
()

0.012

0.01F
0.008F
0.006F
0.004
0.002F

..........................

..........

0
il

Ratio

0.9
0.8

...........................

0.7%

20 30
TP dz (cm)

10



	Contents
	Page 1


